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GUJARAT TECHNOLOGICAL UNIVERSITY
MBA.Evening Sem-1II Regular Examination January 2011

Subject code: 820003 Subject Name: Financial Management
Date: 03/01 /2011 Time: 10.30 am — 01.00 pm

Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

Q.1 (a) Anurag Limited borrows Rs.2,000,000 at an interest rate of 12 percent. The
loan is to be repaid in 5 equal annual instalments payable at the end of each of
the next 5 years. Prepare the loan amortisation schedule.

(b) Critically evaluate the goals of maximization of profit and maximization
of returns on equity.

2 (a e market value of a Rs. ar value bond, carrying a coupon rate of 8.
Th ki 1 f a Rs.100 p lue bond, carrying p f 8.5
percent and maturing after 8 years, is Rs.95. What is the yield to maturity on
this bond?

(b) State the objectives of a working capital policy and discuss the major

issues which must be addressed when formulating a policy.
OR

(b) Your company is considering two mutually exclusive projects, 4 and B.
Project A involves an outlay of Rs.250 million which will generate an
expected cash inflow of Rs.60 million per year for 8 years. Project B
calls for an outlay of Rs.100 million which will produce an expected
cash inflow of Rs.25 million per year for 8 years. The company's cost of
capital is 14 percent.

a. Calculate the NPV and IRR of each project

b. What is the NPV and IRR of the differential project

Q.3 (a) What is an indifference point in the EBIT-EPS analysis? How would you
compute it?

(b) A firm’s estimated demand for a material during the next year is 2500
units. Acquisition costs are Rs. 400 per order and carrying cost is Rs. 50
per unit. The safety stock is set at 25 percent of the EOQ. The daily
usage is 10 units and lead time is 10 days. Determine (a) the EOQ,
(b) the safety stock, and (c) the reorder point.

OR
Q.3 (a) Explain the assumptions and implications of the NI approach and the
NOI approach. Illustrate your answer with hypothetical examples.

(b) Calculate operating leverage and financial leverage under situations 1
and 2 and financial plans A and B respectively from the following
information relating to the operation and capital structure of a company.
What are the combinations of operating and financial leverage which
give the highest and the least value?
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Installed Capacity 2000 units

Actual Production and Sales 50% of installed capacity
Selling Price per unit Rs. 20

Variable Cost per unit Rs. 10

Fixed Costs:

Situation 1: Rs. 4,000
Situation 2: Rs. 5,000
Capital Structure:
Financial Plans

A B

Rs. Rs.
Equity 5,000 5,000
Debt (Cost of debt = 10%) 15,000 15,000

20,000 20,000

(a) What is a right issue? What are its advantages and disadvantages from
the company’s and shareholder’s point of view?
(b) What is the hire purchase financing? How does it differ from the lease

financing?
OR
(a) What are the steps involved in a venture capital investment process?
Explain them briefly.

(b) Despite its weaknesses, the payback period method is popular in
practice? What are the reasons for its popularity?

(a) “Walter’s and Gordon’s models are essentially based on the same
assumptions. Thus, there is no basic difference between the two
models.” Do you agree or not? Why?

(b) What is Modigliani-Miller’s dividend irrelevance hypothesis? Critically
evaluate its assumptions.

OR
(a) The following data is available for Newton Limited:
Earnings per share = Rs.6.00
Rate of return = 18 percent
Cost of capital = 15 percent

(a) If Walter’s valuation formula holds, what will be the price per
share when the dividend payout ratio is 30 percent? 40 percent?

(b) If Gordon's basic valuation formula holds, what will be the price
per share when the dividend payout is 30 percent, 40 percent?

(b) ‘The equity capital is cost free.” Do you agree? Give reasons.
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